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Correct Answer: C 
 
 
QUESTION 37 
Which command is used to change the NSX CU administrator password? 
 
A. set user admin password <password> old-password <old-password> 
B. set user admin password <old-password> <new-password> 
C. set user administrator password <old-password> <new-password> 
D. set user administrator password <password> old-password <old-password> 
 
Correct Answer: A 
Explanation: 
To change the password of an account run:set user admin password my-new-pwd old-password 
my-old-pwd 
 
 
QUESTION 38 
Which log is used to see a failed NSX-T installation of a VIB package on ESXi transport nodes? 
 
A. /var/l og/hostd. log 
B. /var/log/vmware/eam/eam.log 
C. /var/log/esxupdate.log 
D. /var/log/syslog.log 
 
Correct Answer: D 
 
 
QUESTION 39 
Which network virtualization technologies can be used with an Ethernet VPN (EVPN) deployment 
in NSX-T Data Center? (Choose two.) 
 
A. Virtual Extensible Local Area Network (VXLAN) 
B. Multiprotocol Border Gateway Protocol (MP-BGP) 
C. Open Shortest Path First (OSPF) 
D. Multiprotocol Label Switching (MPLS) 
E. Virtual Routing and Forwarding (VRF) 
 
Correct Answer: AE 
 
 
QUESTION 40 
Which three steps must be carried out to configure North-South / East-West Network Inspection? 
(Choose three.) 
 
A. Service Deployment 
B. Service Insertion 
C. Service Consumption 
D. Service Registration 
E. Service Introspection 
 
Correct Answer: ABE 
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QUESTION 41 
What are three characteristics of a transport zone? (Choose three.) 
 
A. defines the potential reach of transport nodes 
B. configured with a Single N-VDS 
C. defines the scope and reachability of a Segment 
D. configured with multiple N-VDS 
E. optional for creating a segment 
 
Correct Answer: ABC 
 
 
QUESTION 42 
An NSX administrator is reviewing syslog and notices that Distributed Firewall Rules hit counts 
are not being logged. What could cause this issue? 
 
A. Syslog is not configured on the NSX Manager 
B. Distributed Firewall Rule logging is not enabled 
C. Zero Trust Security is not enabled 
D. Syslog is not configured on the ESXi transport node 
 
Correct Answer: B 
 
 
QUESTION 43 
An NSX administrator has deployed an NSX Edge on a bare-metal server. Which command 
registers the NSX Edge with the NSX Manager? 
 
A. join management-cluster <nsx-cluster-IP> username admin password <admin-password> 

thumbprint <nsx-manager-thumbprint> 
B. join cluster <nsx-cluster-IP> username root password <root-password> thumbprint <nsx-manager-

-thumbprint> 
C. join policy-manager <nsx-manager-ip> username root password <root-password> thumbprint 

<nsx-manager-thumbprint> 
D. join management-plane <nsx-nanager-ip> username admin password <admin-password> 

thumbprint <nsx-manager-thumbprint> 
 
Correct Answer: D 
 
 
QUESTION 44 
What is the most restrictive NSX-T built-in role which will allow a user to apply configuration 
changes on a NSX Edge? 
 
A. Cloud Service Administrator 
B. Network Engineer 
C. Network Operator 
D. NSX Administrator 
 
Correct Answer: B 
 
 
QUESTION 45 
Which command is used to set the NSX Manager's logging-level to debug mode for 
troubleshooting? 
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A. set service nsx-manager logging-level debug 
B. set service nsx-manager log-level debug 
C. set service manager log-level debug 
D. set service manager logging-level debug 
 
Correct Answer: D 
Explanation: 
https://vdc-download.vmware.com/vmwb-repository/dcr-public/cc42e3c1-eb34-4567-a916-
147e79798957/8264605c-a5e1-49a8-b603-cc78621eeeab/cli.html 
 
 
QUESTION 46 
Which two choices are use cases for Distributed Intrusion Detection? (Choose two.) 
 
A. Identify security vulnerabilities in the workloads. 
B. Use agentless antivirus with Guest Introspection. 
C. Quarantine workloads based on vulnerabilities. 
D. Identify risk and reputation of accessed websites. 
E. Gain insight about micro-segmentation traffic flows. 
 
Correct Answer: AC 
 
 
QUESTION 47 
Which two statements are true for a Tier-1 Gateway? (Choose two.) 
 
A. owned and configured by the Tenant 
B. connects to physical networks 
C. owned and configured by Service Provider 
D. always configured in active-standby mode 
E. supports ECMP 
 
Correct Answer: BD 
 
 
QUESTION 48 
An NSX administrator is planning to deploy a multi-tier routing topology in their NSX-T Data 
Center environment to provide north-south connectivity for the VMs. Which routing component 
must be deployed? 
 
A. Tier-1 Gateway 
B. Edge Services Gateway 
C. Tier-0 Gateway 
D. Layer 2 Gateway 
 
Correct Answer: C 
 
 
QUESTION 49 
Which statement Is true regarding the audit user account? (Choose two.) 
 
A. The admin user must set the password for the audit account to log in to NSX Manager. 
B. The administrator must run the set audit user password <password> command. 
C. The audit user has read-write access to the NSX Manager. 
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D. The audit user is disabled by default and must be enabled to log in to the NSX Manager. 
E. The administrator must run the set user audit password <password> command. 
 
Correct Answer: AE 
 
 
QUESTION 50 
Which CLI command on NSX Manager and NSX Edge is used to change NTP settings? 
 
A. set time-server 
B. get timezone 
C. set ntp-server 
D. set timezone 
 
Correct Answer: C 
 
 
QUESTION 51 
Which two choices are prerequisites to configure NSX-T on VDS? (Choose two.) 
 
A. MTU 1500 
B. MTU 1400 
C. vSphere Distributed Switch 6.5 
D. vSphere Distributed Switch 7.0 
E. MTU 1600 
 
Correct Answer: DE 
Explanation: 
https://docs.vmware.com/en/VMware-NSX-T-Data-Center/3.0/installation/GUID-BA34FB2A-6780-
41C5-B895-F37E5A7B7BAE.html 
 
QUESTION 52 
An administrator has a requirement to have consistent policy configuration and enforcement 
across NSXT instances. What feature of NSX-T Data Center fulfills this requirement? 
 
A. Load balancer 
B. Policy-driven configuration 
C. Multi-hypervisor support 
D. Federation 
 
Correct Answer: B 
 
 
QUESTION 53 
How is the RouterLink port created between a Tier-1 Gateway and Tier-0 Gateway? 
 
A. Automatically created when Tier-1 is created. 
B. Manually create a Segment and connect to both Tier-1 and Tier-0 Gateways. 
C. Manually create a Logical Switch and connect to bother Tier-1 and Tier-0 Gateways. 
D. Automatically created when Tier-1 is connected with Tier-0 from NSX UI. 
 
Correct Answer: D 
Explanation: 
https://docs.vmware.com/en/VMware-NSX-T-Data-Center/3.0/administration/GUID-3F163DEE-
1EE6-4D80-BEBF-8D109FDB577C.html 
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QUESTION 54 
Which to steps must an NSX administrator take to integrate VMware Identity Manager in NSX-T 
to support role-based access control? (Choose two.) 
 
A. Create a SAML authentication in VMware Identity Manager using the NSX Manager FQDN. 
B. Add NSX Manager as a Service Provider (SP) in VMware Identity Manager. 
C. Create an OAuth 2.0 client in VMware Identity Manager. 
D. Enter the Identity Provider (IdP) metadata URL in NSX Manager. 
E. Enter the service URL, Client Secret, and SSL thumbprint in NSX Manager. 
 
Correct Answer: CE 
 
 
QUESTION 55 
Which tool could be used to configure BGP on a Tier-0 Gateway? 
 
A. PowerShell 
B. API 
C. ESX CLI 
D. NSX CLI 
 
Correct Answer: D 
 
 
 
 
 
QUESTION 56 
Which three teaming policy modes are supported by NSX-T Data Center? (Choose three.) 
 
A. Destination MAC 
B. Load Balanced Source IP 
C. Failover Order 
D. Destination Port 
E. Load Balanced Source MAC 
F. Load Balanced Source 
 
Correct Answer: CEF 
 
 
QUESTION 57 
An NSX administrator has observed connectivity issues between the NSX Manager and the KVM 
Transport Node. Which two log files could be used to troubleshoot the issue on the KVM 
Transport Node? (Choose two.) 
 
A. /var/log/vmware/nsx-syslog 
B. /usr/vmware/log/syslog 
C. /var/log/nsx/syslog 
D. /usr/vmware/nsx-syslog 
E. /var/log/syslog 
 
Correct Answer: AE 
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